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Q-1 Study the following information carefully and answer the question.
A + B means ‘A is the father of B':/ A+ B®r 1 ¢ 'A, BFT fuar &'

A — B means ‘A is the sister of B’;/ A — B &7 315 § 'A, B &t 989 §";

A x B means ‘A is the brother of B';/A x BFT 3 g 'A, BFT W= &';
A + B means ‘A is the daughter of B’. /A + B &7 3t g 'A, B #it 9t &'l
If, R+S xT-V+U, then how is S related to U

IR, R+SxT-V=+U,arS, U fFa IR gefaa g?

(A)Son

=5} el (B)Daughter

(C)Brother
(D)Husband



Q-2 Four letter clusters have been given, out of
which three are alike in some manner, while one Is
different. Select the odd letter cluster

AT wrere wg fog e €, o & i et sg a ow
39 g, Grq”f% T AT gl FAUw &< a9qg = w-x

(A)SWIK
(B)VINE
(C)NOHA
(D)LAIM



Q-3 Four number-pairs have been given, out of which
three are alike in some manner and one is different.
Select the number-pair that is different.

T HEAT-STS T T &, ﬁm‘ﬁr@reﬂ-«rﬁwﬁm@rwi
T TH AAT gl SH GAT-TIH Fl 99 ema‘rfﬁﬁ%’ 20 )

(A)16, 8
(B)36, 2
(C)14, 8
(D)28, 5



Q-4 In a certain code language, BREATHER is
coded as 29512859. How will AVIATION be
coded in that language?

T Afa e wmar §, BREATHER #t 29512859 %
@ﬁfﬁ‘dﬁ?ﬂw%l S AT9T H AVIATION Er?r
Y Fedg (HAT SITTIT? €T

="

X 2
) L | ‘ |
| . Y & /
4 77
/
/

(A)14912965
(B)14912956
(C)12912954
(D)12910965



Q-5 A group of three friends, K, L and M, are sitting in a cafe. Their average age is
24 years. Another friend ‘N’ joins the group and the new average age of the group
becomes 23 years. If another friend ‘R’, whose age is 2 years more than that of
‘N’, replaces ‘K’, then the average age of L, M, N and R becomes 22.5 years.
What is the age of K?

i e, K, L 3K M #T T 99g TF §%h | ST gl Seht Sitad SU 24 9T §. T
A= ‘T gyg | i B SATaT § 3T §Hg i A Siad g 23atf€rvr|?ﬁ%’|aﬁaﬁ'§
=1 fa= 'R, g S9N @rzﬁafé'aﬁéf 'K'a?rw%m%’ arL, M, NsiR R $t
Sﬂﬂﬁmzzsaﬁg’rW%’l K &t 3 F1 87
(A)15 years |  ] 20 )
(B)10 years S
(O UPACELE
(D)24 years



Q-6 Select the cube that can be formed by folding the
given sheet (unfolded box) along the lines.

39 I T 49 *t?ﬁﬁﬂi?ﬁt(@TW)ﬁ?ﬁ'@Tsﬁ%
T FISHE TATIT ST Foha T (€




Q-7 Select the letter clusters that can replace
the question mark (?) in the following series.
I AT BT HT TT e ST AT TG W |
w1 e (?) A gfaeriod F a=d 8|
gDx, nHs, kLn, hPi, ?

(A)EtD
(B)fTe

(C)eTd
(D)eSd

= R o~ B ' o : e 2 . — 2
e et A A A . y / \ o L = - Ny Ny
™ i - s 2 ¥ o = e \ - - N —
S e AT S MG 3 A . RN S =
A yr > e 2 . A 4 = A\ R = o <
e Ll 7 e il i ; : 8 38 S e
s e e Y o) 7 - TR\ 3 2 O T
3 o e S » N 2 PN N e
i AN / . : : . S
5 y v - ¥y B = \ %
4 - N
7 ) w
<
X
7 / IR



Q-8 Select the option that is related to the third
number in the same way as the second number is
related to the first number and the sixth number is
related to the fifth number.

39 faseT &1 99+ *(Gﬁ?ﬁﬁwﬁaﬁwmﬁ
& 9 @ ww@wﬁﬁaﬁﬁ%’ﬁwww
W’%Wﬁ'%‘l‘a‘f@fﬂ'%’l |
78:117::90: 7 :: 108 : 162 (A)144

(B)126
(C)117
(D)135




Q-9 Select the option that is related to the third
word in the same way as the second word is
related to the first word.

IH fed T AT HE AT ATHL 0% F IHT THIL
A § 9 AT o UBSA ek Q HAAA R o0
Crop : Farmer :: Food : /%9 : foheTe 1 %ﬂi?l‘rr 20

(A)Vegetables
(B)Chef
(C)Utensil
(D)Kitchen



Q-10 Which of the following option figure is the
exact mirror image of the given figure when the
mirror is placed on the right side of the figure?

fettad § @ 19 @ e i <1 72 s H

Wmaﬁ%wﬁwﬁa@%%ﬁaﬁ?w
STt 872




Q-11 Which of the following sets is best represented
by the given Venn diagram.

ﬁ'ﬂﬁﬁﬁﬁﬁaﬁ?wﬁ?ﬁ‘qwaﬁaﬁ@mﬁwﬁ
ST ILAT 4T §

l (A)House, Window, Tenant

(B)Paragraph, Sentence, Pen
(C)Weeks, Months, Years
(D)Truck, Ships, Transport




Q-12 Select the combination of letters that when
sequentially placed in the blanks of the given
series will complete the series.

HAY o ST GATSIT T T %{ﬁ%ﬁﬂim%
6 AT | A &9 § T I @t @)

STTIT _uvwuv_Wwvtuw_Uvwuv_wv_uw

(Attttt

(B)tutut
Ctvwtt
(Dttutv



Q-13 Select the set of letters that when
sequentially placed in the blanks of the given
letter series will complete the series.

FEL % IH TIYE FT 9 *{ﬁ%ﬁﬂiﬁng@w%

~m_In_mimnk _k nl

(A)l,n,k,l,n
(B)k,n,k,l,m
(C)k,Lk,I,m
(D)m,n,k,l,m



Q-14 Select the option figure in which the given figure
is embedded (rotation is NOT allowed).

39 e srfa T 99R *(ﬁl’ﬂ‘ﬁﬁﬂ‘%%ﬁ?ﬁﬁ%ﬂ%
(TS T STHTA Tal 8)!




Q-15 Select the option in which the numbers are
related in the same way as are the numbers in the

given set.

39 faseq &1 99+ qv(f@l’ﬂ‘frﬂ'@'rl;fa‘{:ﬁuw\ qefada

g 99 U T 92 § =470 ) N
(343, 98, 21) g,g;/\:

(A)(217, 72, 18)
(B)(1728, 288, 24)
(C)(1331, 242, 33)
(D)(512, 126, 27)

//_ - ; s 7 = - \> ::"5
ot R R G- R X Rl



Q-16 In a certain code language, ‘VERBAL' is
written as ‘QNMYXK’ and ‘REACH’ is written as
‘MNXZF’. How will ‘BRAVE’ be written in that
code language?

T RSa T 99T H, 'VERBAL' 1 'QNMYXK' 3%
'REACH" #T 'MNXZF" feraT ST 2| Sl 5& HIET |
'BRAVE' 1 & ferar smwm? | u/ |

(A)KQNMX
(B)YNXQM
(C)YMXQN
(DKMQXN



Q-17 The sequence of folding a piece of paper and the manner
in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

FTTST % Teh Tohs i ATSH AT HH AL T T HITST Al HleA & U6
il e triea stist ® fR@TT 37 81 @i 9% I8 FTS %&n
ﬁ'@"ﬂ"r?

Ewu

& 1y, .
= 'fJ ] ]
\ ¥ .




Q-18 Four words have been given, out of which
three are alike in some manner, while one is
different. Select the odd word.

(A)Copper
(B)Iron
(C)Brass
(D)Silver




Q.19 Statements: 1. All books are magazines.
2. Some books are novels.

Conclusions: |. Some magazines are books.
ll. No magazine is a book.

& p=]
lll. No novel is a magazine. | -

V. Some novels are books.

(A)Only conclusions |, lll and |V follow.
(B)Only conclusions | and |V follow.
(C)Only conclusions |l and Il follow.
(D)Only conclusions | and Il follow.



Q-20 Study the given pattern carefully and select
the number that can replace the question mark (?)

In it.

{T 7T Y T LATALAD ALTAT e 3T I HE&AT T

I L ST 399 T =t (?) ﬁ'iﬁ'l)
(A)14
(B)16
(C)10
(D)18

f Sy " e ] L N r \
p ( /['< " § B
TR | gl ¥ -
R - T 1] £ j:,.,‘,’."q e A = gl j .
P fﬁ /e g R N SO RS e SR L S, 8



Q-21 How many triangles are there in the
given figure?

&t € srpfa ¥ fvaw B 872

(A)18
(B)23
(C)22
(D)20




Q-22 Select the figure that can replace the
question mark (?) in the following series.

I AT FT I %(Gﬁﬁ'ﬁﬁﬁﬂwﬁwﬁﬁ‘ﬁ
(?) =Y THaeaTiT < Thdl 8|

\‘/ \\ "\
(& /2% \
~ i 171
\ ) ¢ R T
\._\ M / / ’

ANYNZYNAY
NS




Q-23 Select the number that can replace the
question mark (?) in the following series.

3 AT FT FIT HL ST A g@ar § w1 e
(?) =Y T X GFhal gl
11, 12, 36, 41, ?, 296

(A)205
(B)287
(C)48

(D)123

i - ~ i s / ’ | ‘ - . ——
S e L s SCEE e \ a 5 \ NS
o R S A ny s~ = \ N X (\'_.‘*3‘- AR
/7 s P ;Y p N MR -
4 4 o / g & ¥ SRR\ N
= 4 % N N NG s
g/ ,)‘ 2% Y, ! ) "'\ b NS
5 / N S
P s
4 9 / \ &



Q-24 The two given expressions on both the side of the ‘=’ sign
will have the same value if two numbers from either side or both
side are interchanged. Select the correct numbers to be
interchanged from the given options.
Tt AT A AT AT A =l ST GEIATAT T MU J I8 @ FT ST Qv '='
et & A9 X fRT T < Sq1E T AT U1 I %qmzﬁ?h—q‘rfr |
q IO FAT ST ATAT TG GEATIAT T AT =\
4+6xT7-27+3=Tx8-4+39+3 =

(A)8, 7
(B)6, 8
(C)3, 4
(D)6, 4



OUAWN

Q-25 If the following words are arranged as per their
order in the English dictionary, which word will come fifth
in the sequence?

Ff Referiera =3t Fr SAUSIT AR A 7 FR %aﬁm‘{
Faed fhaT 9T, a‘raﬁ—rrmaro—c{mﬁm%rw?rtrz

ATTIT?

. Weekly

. Weather .
Weird (A)Welght

. Weaver (B)Weird
Wielded (D)Weekly
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